
Step 1:
Place the stool leg in the desired installation location.  Mark the floor or wall through 
each of the  four holes of the stool leg or mounting plate.

Step 2:
Drill and prepare the holes for anchoring with accordance with the suppliers 
instructions.

Step 3:
Fasten the seat to the plate on the stool leg that has the counter sunk holes.  Secure 
by hand starting four (4) 5/8” Torx tamper-resistant screws finish with the tool 
provided.  Steel seats are attached using 5/16” washers and nuts. (Provided) When 
attaching steel seats, tighten the nuts using a torque wrench.  TIGHTEN TO A TORQUE 
VALUE OF 10 ft-lbs. (120 in-lbs.)
Fasten the stool leg to the floor in accordance with the suppliers instructions.

C1

A1

B1

C

B

A
D

Parts List / Wall Mount
ITEM QTY. PART NUMBER DESCRIPTION

A 4 025-007 Nut, 5/16-18, Hexagonal, Zinc
B 4 025-011 Lock Washer, 5/16", Zinc
C 1 040-060 Ironman Seat, 12", SST, 14Ga, 5/16-18 x 5/8
D 1 060-211 Seat Arm, Ironman, Fixed, 15.5", Grey

Parts List / Floor Mount
ITEM QTY. PART NUMBER DESCRIPTION
A1 4 021-001 Machine Screw, 5/16-18 x 5/8
B1 1 035-104 Stool, Bolt, 14Ga, 24", Grey
C1 1 040-XXXX Seat, 13", Super Slammer Stone

Tools Needed
Low RPM Variable Speed Hammer Drill

Concrete Drill Bit Size Mached to Anchors
4 Concrete Anchors (not supplied 3/8" max)

Rev. B - 9/23/14
091-626 Page 1 of 1

www.norix.com ● TEL 800 234-4900

Assembly Notes: Norix is not responsible for any damage due to improper installation.  If your shipment does not match the parts list, please contact Norix Customer Service at 800-234-4900.
                                  Norix reserves the right to modify design specifications at any time without an obligation to owners of previously sold products.
 ___________________________________________________________________________________________________________________________________________________________________________________________________

Bolt Down Stools
Assembly Instructions

Model Number
D564-XXX
S561-XXX


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View6
	Drawing View14


